Sex Lab with Hardy Weinburg
Use the data to create a line or bar graph with the number of Homo Dom, Hetero and Homo Rec for both a population in genetic equilibrium and one in the process of adaptation. Also, you must use the Hardy Weinburg Equation p2+2pg+q2= 1to test if the population is in equilibrium or not. You must use 2 different rounds to determine this.

In the discussion, you must include the following:
What is genetic equilibrium

What factors will push a population out of equilibrium

What is the Hardy Weinburg equation and what do the variable represent

Explain any trends you see in the graphs

DATA

	per 1
	AA
	Aa
	aa
	
	
	AA
	Aa
	aa

	1
	3
	7
	4
	
	1
	4
	5
	5

	2
	3
	7
	4
	
	2
	2
	9
	3

	3
	2
	9
	3
	
	3
	4
	10
	0

	4
	2
	9
	3
	
	4
	5
	8
	1

	5
	1
	11
	2
	
	5
	6
	7
	0

	6
	3
	7
	4
	
	6
	7
	5
	1

	7
	4
	5
	5
	
	7
	8
	5
	0

	8
	3
	7
	4
	
	8
	8
	5
	0

	9
	4
	5
	5
	
	9
	8
	5
	0

	10
	3
	7
	4
	
	10
	10
	1
	2

	total
	
	
	
	total
	
	


	per 2
	AA
	Aa
	aa
	
	
	AA
	Aa
	aa

	1
	2
	7
	2
	
	1
	1
	9
	1

	2
	4
	3
	4
	
	2
	2
	7
	2

	3
	2
	7
	2
	
	3
	3
	8
	0

	4
	1
	9
	1
	
	4
	5
	4
	2

	5
	3
	5
	3
	
	5
	6
	5
	0

	6
	3
	5
	3
	
	6
	6
	5
	0

	7
	4
	3
	4
	
	7
	7
	3
	1

	8
	2
	7
	2
	
	8
	7
	4
	0

	9
	3
	5
	3
	
	9
	8
	2
	1

	10
	1
	9
	1
	
	10
	9
	2
	0

	total
	
	
	
	total
	
	


